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Attachments:	
1	Overall description
RAN2 thanks SA2 for their reply LS on Tx Profile in R2-2204525/S2-2203595.

Regarding the questions from SA2, RAN2 would like to provide the following answers.
SA2 Question 1: Would this behaviour be compliant with RAN2's assumption for V2X, or would AS layer always expect a NR Tx Profile from V2X layer? 
· the upper layer does not provide NR Tx Profile to the AS layer when there is no NR Tx Profile mapped for the relevant service. In this case, the AS layer can consider that SL DRX is not supported. How the AS layer operates in this case is up to RAN2.	Comment by Qualcomm: If one of the service types associated to an L2 destination ID doesn’t have Tx Profile and all other service types are mapped with Tx Profiles with “SL DRX”, will Tx Profile(s) be passed to AS? 	Comment by Apple - Zhibin Wu: I think in this case, the UE AS layer will still receive other TX profiles associated with L2 ID and shall not treat this case as “no TX profile” case. I assume this is not the case asked in SA2 Q1…but companies can double check if this is the right understanding. 	Comment by vivo(Jing): Good question, I think the case has not been touched in RAN2 discussion (may even not be discussed in SA2 according to my SA2 colleague).
My understanding is different from Apple.
Considering when at least one service is not mapped to any TX profile, the consequence should be that no DRX is applied, so in this sense I understand the upper layer should not provide TX profile for that L2 ID (although some of the service do have TX profile associated).

I think we can check it with SA2, if companies think it is necessary.
	Comment by OPPO (Bingxue): Actually we have checked with our SA2 colleagues on this issue. 
According to their explanation, our understanding is this case (e.g., one service is w/ explicit tx profile requiring drx, the other service is w/ implicit/invisible tx profile requiring no DRX) will not happen since the R17 NAS layer (Prose) will always provide a Tx profile and a R16 NAS will always not provide a Tx profile. 
But we are fine to check whether this is common understanding in SA2.	Comment by Huawei, HiSilicon: We think RAN2 can check with SA2. Our SA2 colleagues think, if this becomes problematic case, V2X layer behaviour may need to be modified. If SA2 can change V2X layer behaviour, should RAN2 also ask only one Tx profile to be delivered to AS layer from the beginning, i.e. RAN2 believes the agreed principle can be implemented in NAS layer instead of AS layer and ask SA2 to confirm? SA2 is more suitable to handle service type (which is invisible to AS) mapping to Tx profile, and only one Tx profile from V2X layer would lower the risk of ambiguity e.g. among TX UE, RX UEs.	Comment by Eri_RAN2_pre118e: Min->
Actually, we think it is unnecessary to ask this question. In our understanding, TX profile is provided by upper layer per service type, indicating whether SL DRX on/off for this specific service type. So, actually, upper layer provides DRX on/off indicator for each service type.

In this case, for a service which doesn’t associated with a TX profile, according to SA2 information provided, UE interprets it as SL DRX off for that service type. Therefore, UE can just assume as if there is a TX profile for that service, indicating SL DRX off. 

But, we are also fine to follow the majority view.	Comment by vivo(Jing): To Huawei: I think to make SA2 support that upper layer should only indicate one TX profile is another undiscussed aspect. Let’s first ask them the question and to see if any new optimization is needed in SA2/RAN2.
To Min: Thanks for the clarification, I think the concern mainly comes from the situation that the UE may not see the service type in AS layer. But anyway thanks for your compromise and we can confirm the question with SA2.	Comment by CATT: We are fine to check this case with SA2 to make it clear since companies seems likely having different understanding to the case even based on their separately SA2’s feedback.
[RAN2 answer] RAN2 discussed the issue and has made the following agreement:
	RAN2 #118e Agreement:
When the upper layer does not provide NR Tx Profile associated with an L2 ID to the AS layer, no SL DRX is applied for the L2 ID.	Comment by Apple - Zhibin Wu: Can we change this to normal color. Not sure this agreement needs to be highlighted with red color.	Comment by vivo(Jing): Sorry the red colour is to indicate this is not the final wording in chair minutes and may be modified. I would change it later.	Comment by vivo(Jing): The change has been done.



SA2 Question 2: Would the use of "default SL DRX configuration" also require the NR Tx Profile?
[RAN2 answer] RAN2 discussed the issue and has made the following agreement:
	RAN2 #118e Agreement:
For default SL DRX operation, SL DRX needs to be supported in the TX profile associated with service type/L2 id which the UE is interested to receive. No need of special TX profile only for a default SL DRX operation.



In addition to SA2’s questions, RAN2 also made the following agreements related to TX profile.
	1. RAN2 agree to revert the following working assumptions:
· “No additional RAN2 work if SA2 confirms it’s feasible for Rel-17 SL DRX operation, L2 id is only associated with either DRX-based TX profile(s) or non-DRX based TX profile(s)”.
· “For GC, we will check with SA2 whether the mapping from L2 id to TX profile is feasible in the gNB (like what we did in LTE). Working assumption: no additional RAN2 work if SA2 confirms it’s feasible.”
2. RAN2 assumption: For a given L2 id, all TX and RX UEs should be configured with the same set of TX profile(s) (including DRX on/off). We need to check with SA2.	Comment by OPPO (Bingxue): For this RAN2 assumption, a Q to SA2 is needed with the “We need to check with SA2”	Comment by Apple - Zhibin Wu: We can ask SA2 to take all agreements into account and send feedback if there is any concerns.	Comment by vivo(Jing): Agree with Apple. We don’t need SA2 to actually answer anything so we write it here and they can feedback if any concern.

3. For groupcast, UE reports L2 id and SL DRX on/off indication to the gNB.	Comment by Huawei, HiSilicon: For LS to SA2, term "Tx profile" is better than "SL DRX on/off indication", and in RAN2 they are regarded as equivalent. can consider "UE reports L2 id and SL DRX on/off indication (i.e., Tx Profile) to the gNB". 	Comment by vivo(Jing): We should anyway stick to the wording of agreements in chairman notes. And change it to ‘TX profile’ may be misunderstanding because we actually made a choice from option1:DRX on/off and option-2: TX profile when we had that agreement. (although they are similar).

And also I don’t think they are totally same because if the UE reports DRX on/off it may have already considered all TX profiles and give a final decision. But to report TX profiles the UE may report multiple times (e.g. two reporting, L2 ID1+TX profile drx-on, and L2 ID1+TX profile drx-off). 
	Comment by Huawei, HiSilicon: I am fine to only copy meeting agreement. However, the cases you mentioned are not that Tx profile is different from DRX on/off. UE reports Tx profile only after "filtering" and we are talking for specifically one report, not that between multiple reports. UE reports to gNB with "Tx profile" field which only contains DRX compatible or DRX incompatible. I understand Option 1 and Option 2 are identical. 
4. In case multiple TX profiles (w/ SL DRX and w/o SL DRX) are associated with an L2 ID, SL DRX is supported only when all TX profiles support SL DRX.



In addition to the above, RAN2 would like to seek feedback from SA2 regarding the following questions:
RAN2 Question 1: For an L2 destination ID, is it possible that at least one of the service types doesn’t have Tx Profile passed to AS layer yet all other service types are mapping withmapped to Tx Profiles with which have “SL DRX” and are delivered to AS layer?	Comment by OPPO (Bingxue): Rewording a little bit to make it clearer.	Comment by Intel (Rafia): Minor suggestions for rewording of Question 1. We are also fine with the original wording of question by Rapp

If one of the service types associated to an L2 destination ID doesn’t have Tx Profile and all other service types are mapped with Tx Profiles with “SL DRX”, will Tx Profile(s) be passed to AS?
	Comment by CATT: Suggest this wording: at least one of the service types doesn’t => one or more service types do not

2. Actions:
To SA2 
ACTION:  	RAN2 kindly asks SA2 to take the above agreements/assumption into account for further work and to provide feedbacks if any concern (especially on the RAN2 assumption), and provide feedbacks on the Question-1 listed above.


3. Dates of Next RAN2 Meetings:
3GPP RAN2#119e	August 22 – 26, 2022	[Electronic] Meeting

